
Турнир по решению  шахматных задач (#3, #3, #3)

Ответы
№ Задание Решение

№1

XIIIIIIIIY
9-+-+-+-+0
9+pmK-+-+-0
9N+-+-+-+0
9+k+-+-+-0
9-sN-+-+-+0
9tRP+-+-+-0
9-+-+-+-+0
9+-+-+-+-0
xiiiiiiiiy

#3    5+2    С+

№1. П.А. Васильчиков [1938 г.]

1.Ra1! zz 
1...b6 2.Na2! (2,5) и 3.Nc3#
1...b:a6 2.Nc6! (2,5) и 3.R(:)a5#

№2

XIIIIIIIIY
9R+-+-+-+0
9+-+-+-+-0
9-+-+-+-+0
9+-+-+-zP-0
9-+-+-vL-zp0
9+-+NzP-+p0
9-+K+P+kzP0
9wQ-+-+-+-0
xiiiiiiiiy

#3    9+3    С+

№2. А.Л. Саркиц [1965 г.]

1.Qh8!!  zz
1...Kf1  2.Ra1+ (2,5)  2...K:e2
3.Qh5#
1...Kg1(h1)  2.Ra1+ (2,5)  2...Kg2
3.Qa8#

№3

XIIIIIIIIY
9-+-+-+-+0
9+-mK-+-+-0
9-+-+-+p+0
9+-+-+-+P0
9R+-+P+-mk0
9+-+-zP-+-0
9-+-+-sN-zP0
9+-+-+-tR-0
xiiiiiiiiy

#3    8+2    С+

№3. А.В. Шамис [1960 г.]

1.Ra6! zz
1...g:h5 2.Rh1! @ 2...Kg5 3.h4#
1...g5 2.Rh6! @ 2...g4 3.R:g4#
1...K:h5 2.Ra:g6 @ 2...Kh4 3.Rh6#

@=1,6; 2@=3,2; 3@=5
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